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NB:  1)Q.1 is COMPULSORY
2) Attempt any THIREE out of remuining gquestions
3y Assume sultable data whgrrvrr required,

Q.1 Attempt any FOUR of the mlhrwmg § &~ () 4
A. Define irrigation and di"cuu in brief disadvantages uf m/u irri g,mm; :
B. What are the forms of precipitafion” :
C. Define the following: aquifer, aquugc, aqumfudc aquitard, perched aquifer
D. Write a short note on zones of reservoir? _
E. Compare tlwf(enncdy gand Lacey's thcmm K ‘v O
F. Enlist typcpof(ianalhn’inz o & \
Q2. A 1 P.xpmin with thi hclp of a«ﬂﬁgram the hydrolognc cydc o~ ;
A. il Deﬂne Precjp:(auon Exp"lam différent types of’ Precipitation %DQ 05y
giv
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B, The ordinates of 4-h-unit hydrograph for a drainage basin ¢ elow,.
hbma lehr UH byS-curve mtthod & (10)
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elation,pawccn them. (05)

l}ﬁx) is 60% and for rice (Kharif) is
‘ nbutavy'is 2500 héctares per cumec for Rabi
Khanfscason catculaw the discharge required

(10)
g3 aqt&ﬁr& nan)e‘the components, (5)
oo WW’@flowns, (5)
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H-test, ﬂl@lﬂ Opcn well was depressed by pumping, by
% d 1.6m in 90n1§n$ nd the diameter of well to yield 10litres/sec

o (10)

& practical profile of gravity dam (05)

g v%?iat’mﬂmmu (05)
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Q5.B. Design the practical profile of a gravity\d;é}n from _th‘é’followin‘g;"data: & A
Reduced Level of base of Dam is 1@5@“% _ : / : : ) w |
Reduced Level of F.R. L. = 1480“_5;1‘»}1, . QS‘\\ ; :;‘\ N f.,::: ﬁ/\j R
Specific Gravity of masonry = 234‘}- . ﬁ\“* \ ‘\ \J‘ {%;_\d ;;_; ;
Safe compressive stress for masonry = 1200 kN/m?, A oy S
Height of waves = Im. Q AR & o 4
Assume any suitable datxa:;:j-f'requirgq\;};hd state the same cleatly. | (10) -
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Q.6. A. Design an irrigatio&f\"‘éhannel“;@c:arry a discharge of 100 cumees in a so,,ii;havin ) 4
factor 1.1, using Lacey’s theory. Assume side slogte“s' of 0.5H0 1.0V ~% (10)44s~ N
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B. Describe wm‘@he help %f%ketchefsﬁi;‘vanous tyg&
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